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A Chi-Square Test For Homogeneity


A sociologist is interested in the relationship between marital status and different groups of workers. She surveys 200 blue collar workers, 300 white-collar workers, and 150 college professors, partial Minitab 14 results are given below.

       Blue-collar  White-collar Professional    Total

Married       103         144         88      335

Single         42          65         17      124

Divorced       45          86         37      168

Widowed        10           5          8       23

Total         200         300        150      650

Chi-Sq =  0.000 +  0.729 +  1.479 +

          0.388 +  1.055 +  4.715 +

          0.866 +  0.923 +  0.081 +

          1.207 +  2.970 +  1.366 = 15.779


1.
State appropriate null and alternative hypotheses for this test.


H0 :  
_______________________________________________________________________________




_______________________________________________________________________________




HA :  
_______________________________________________________________________________




_______________________________________________________________________________



2.
What is the expected count for the third row, second column cell (divorced white collar workers)? (Show work)





________


3.
What is the computed value of (2. 
(2.= ___________


4.
How many degrees of freedom are there for this test?
Df = ______


5.
Use your calculator’s (2cdf to compute the P-value.




input: 
(2cdf (_______________________________)



P-value
___________

6.
The initial or formal conclusion (Reject H0/Fail to reject H0)
___________________


7.
Write a properly worded and meaningful conclusion. (Use complete sentences please and recall that this must be an answer to the question at hand and not just about null or alternative hypotheses. Do not use the words “null”, “alternative”, or “hypothesis” in your conclusion.)
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